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Istruction: First 15 minutes are allotted for the candidates to read the

Qquestion paper.
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Note ;

vi)

vii)

viii)

'y
The question paper is divided into two parts — Part-A ahd Part-B.
Part-A and Part-B are divided into three Sub-Sections — (1) {2) and \
(3).
In Part-A of the question paper, there are multiple choice questions in
which select the correct alternative and then by a blue or black ball
point pen, fill completely in the circle in OMR Answer Sheet. Do not

crase, cut or use whitener on the OMR Answer Sheet after answering.

1 mark is allotted for each question in the multiple choice question of
Part-A.

Part-B has descriptive questions.

The allotted marks are given in each question.

All the questions of Sub-Sections of Part-B are to be attempted all at a
time. Start each Sub-Section from a new page.

All the questions are compulsory.
g -
PART - A
( Fgfawedta wv )
( Multiple Choice Type Questions )
JAHTT - (1)

Sub-Section - (1)

1. %ﬁmwwwwmw#mmmmﬁim@w
T T@AT g 2

(A)
(B)
(C)

(D)

02000/34
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To have a real and enlarged image of an object by a concave mirror, the
position of the object should be

(A) At the centre of curvature (C)

(B) In between centre of curvature ( C) and the focal point { F)

(C) At the pole ( P) of the mirror

(D) In between pole ( P) and the focal point ( F) of the mirror 1
2. TFRRcvRNam i wEadd

(A) Hi B) i H=

(C) T wfg YFve (D) T ¥ HE @l 1
2. The unit of the power of the lens is

(A) metre (B) per metre

(C) metre per second . (D) none of these 1

3. UH WA v R s faedt s & ety e @ et ¥ a9 sess o o
S-S fgaoT Bt ¥ | W avfve Rroem few O & R @ 2

(A) e (B) Ui
(C) & (D) ST 1
3. When a beam of white light falls on the surface of a triangular prism of

glass it splits, after emerging out from the prism, into various colours

with different deviations. Which colour has maximum deviation ?

(A) Red (B) Yellow

(C) Green (D)  Violet 1
4, - I qaY ydta & e

(A) GIRT & FH G (B) ¥ERY wd wEha ¥ gy

(C) RTIUeX & Qg (D) qg:ha & FHH TR .
4, The sun appears whitish '

(A) much before sunrise (B)  at the sunrise and sunset

(C) at noon (D) much after sunset 1
5. wﬁ@wwwm@ﬁmwwﬁﬁqﬁm?

(A) e S (B)  IE F w1 w1 Hey

(C) TR o1 TR I (D) T F ’HR .
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5. On which of the following does the resistance of an electrical conductor

~ not depend ?

(A) Length of the conductor

(B) Density of the material of conductor

(C) The cross-section of the conductor

(D) The shape of the conductor 1
6.  FF AR faed <eTehl il A FH R IFH! GROTH HfARTY “EA= FW 2

(A) T F THARR w9 (T wH) § AL A

(B) Wft &t ot 1 § wirer

(C) TS HI Svit 7 § T dH & §9E=R %9 § A 7H

(D) ﬁaﬁa‘rﬁmﬁmﬁwﬂaﬁrw_mﬁ?ﬁam 1

6. In which combination the four resistors be connected to have minimum

resultant resistance ? https://www.upboardonline.com

(A) All of the resistors in parallel combination

(B) All of the resistors in series combination

(C) One in series with the parallel combination of other three

(D) Two resistors in series with the parallel combination of other two 1
7. w%@wﬁm%wmwmﬁwmmﬁﬁ

frafefaa & @ foew Fam =t gea & € 2

(A) AT & < gy o fam (B) T & & wrr &7 Fygn

(C) =ife g1 & TS 1 fram (D) 31 =1 g | 1
7. One needs the help of which of the following rules to know the direction

of the magnetic field produced due to a current carrying conductor ?

(A) Fleming's right hand rule (B} = Fleming's left hand ryle

(C) Right hand thumb rule (D)  Ohm's law ]
02000/34

https://www.upboardonline.com



fD

0

10.

10.

11.

%ﬁ#::;ﬁ-ﬁﬁﬁﬁﬁ;ﬁ?*‘.ﬁ%r*—?F
1 .
(A} = BI =
I ¥ — ——raTo 1
[Ci - 'Dl - ,.-:- -

- - * - - . — - o --_‘f.-i . :’?
Which of the following metals produces hydrogen gas Wiin C0.C Wale

(A)  Copper Bi Gold

{Cj Potassium D Algminium

T=eES S B e £

(A} HC =CH (Bj H:C=CH:

(C) CH,-CH,-CH; iDj CH,-C=CH 1
The zlkene in the following is

(A) HC =CH By H,C= CH,

(€} CH,-CH,-CH, Dy CH,-C=CH 1
e = mE EEEE T S ET IS F TR pH TS T R

P TR T B2

Ay 1
Dy 8 .

(C) © . . f e
it rurns red litmus Into biue. The possible pH vaiue of this
A solunon t f u

solution is

Ay 1 = 1
c 6 Dj 8 +
(C)
e 377.':‘; M-r—:g':?'?”c'é’
. ) . B = WETE T
TE A

Ay 7

. . D} B-Taea & Fox 1

€S 1S
{(Bj One covalent bond

(D) Tnple covalen: bond 1
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(A) 9= T (B) dfT el
(C) fezw (D) faisies ol
12.  Useful substance in making water bacteria free is
(A} Washing soda (B) Baking soda
(Cj  Alum (D) Bleaching powder 1

13. Sam STEME § ST & Fa § 5 A o §, 3% S A ¢

(A) AT AWlHT (B) 399 HUHA '
(C) IrIcaE HhAT (D) fEEA 1
13.  The reactions in which new compounds are formed by exchange of ions,
are called ' '
(A) Substitution reactions (B) Double decomposition
(C) Addition reactions (D) Dissociation 1
IO - (3)

Sub-Section — (3)
14, UEY T AN F BE G €

(A) T T (B) T W A

(C) FHHT A H A (D) -SRI FT T 1
14.  The function of xylem in plant is

(A) conduction of water (B) translocation of food

(C) translocation of aminoacid (D) translocation of oxygen 1
15 st & wam & fere Jvedt 3 Feietan § 9 B3 oh g fr 2

(A) T (B) @

02000/34
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15.  In which of the following plants did Mendel perform his experiments on

inheritance ?

(A) Tomato (B) Brinjal

(C) Pea (D) Mustard 1
16. f=feifiga o @ & gmg o A@©r 53 65 &1 977 TE 8§ 2

(A) TN (B) THIeE

(C) et D) fe= arfedt 1
16.  Which is not a part of the female genital system in human from the

following ?

(A) Ovary (B) Uterus

(C) Vas deferens (D) Fallopian tube 1
17. Tt qeor & fog smevass @

(A) TET SEIATFES TqUT 5 (B) FARIEE

(C) I & THE (D) ¥ ¥ Tt 1
17. The autotrophic mode of nutrition requires

(A) Carbon dioxide & water (B) Chlorophyll

(C) Sunlight (D) All of these 1
18, @HeTd 3 T I E

(A) €I @ AU FW b IR (B)  FER I O ERA F

() #Te] Td U & JURYE (D) 39 ¥ g+t 1
18. The examples of homologous organs are

(A) Our hands and forearms of the dogs

(B) Our teeth and teeth of elephant

(C) Runner of potato and grass

(D) All of these L
02000/ 34 [ Turn over
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10, i §=A qFeE gRI GRS
A) e B) d=dH |
(C) wrewirgaw & (D) wrEE | 1
19.  Asexual reproduction takes place through budding in
(A} Amoeba (B) Yeast
(C) Plasmodium (D) Leishmania 1
20. WFHE sUER W WauRd feed feEr 2
(a) T B) A
(C) =uEA (D) WA 1
20. Who proposed Natural Selection Theory ?
(A) Lamarck (B) Darwin
(C) Mendel (D) Morgan 1
qug -9
PART - B
( TUATHF WA )
( Descriptive Questions )
IQNTT - (1)
Sub-Section - (1)
| T O aEE W, 19 ¥ 3 @ o 9w F e & o, 2 Hex awar fae
P WTT, 4 TET F €1 A A FE I F Iq s gdv H fee g
o7 3 FE | R I FE ol THHAREY )
2+2
1. A convex mirror of radius of curvature 2 metre is attached to a motor
bike to watch any other vehicle coming from behind. Calculate the
jocation and position of a vehicle which is at 4 metre_behllipd thclbike' as
seen in the mirror. Also explain by the ray diagram. n 40
02000/34
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{"':f'?-..'.

e Sffe A J i ww e arfvs @ s 100 W T A @ TE
%lmmﬂﬁﬁmﬁﬁqﬁﬁﬁaﬂﬁgwﬁi%ﬁﬁﬁamﬁa§$ﬁ%%ﬁ3@ﬁ$
THT T R Siew g & oig w1 i s @ e s o e 2+ 2

A person suffering from short-sightedness can see up to 100 metre.

Calculate the nature and the focal length of the lens in order to correct
sion. Also

this defect so that he can see objects at infinity hence correct vl
Yo+ D

draw the ray diagram.

“maﬂhmam%?3mﬁammjmmﬁﬁﬁﬁﬁvmmﬂ#ﬁMNﬁﬁaﬁﬁ
fr weh fara e @1 Wity fea-feT a@t w PR & 8 2+2

What is Ohm's law ? Explain by drawing the associated circull diagra

) : s or
Also discuss the terms on which the resistance of an electrical conduct
7+ D

depends. https://www.upboardonline.com

mﬁﬁ@aﬁhzmﬁﬁﬁwﬁmmaam%?3wﬁrmﬂmé$ﬁﬁﬁanﬁammm

1+2+2+1

e Ui ST |

FHEgar

tﬁmﬁﬁmﬁﬁmﬁﬁﬁaﬂmﬁﬂﬁﬁmaam%?3@ﬁt¢ﬂ¢i$@ﬁﬁaﬁﬁa

1+2+2+1

a:{ﬁ?{aﬂﬁ‘&ﬂﬁﬂ!l

the working principle of an electrical motor ? Describe clearly its
S

What i ‘ _
ruction and working method with the help of a diagram.

const )
1+2+2+1

OR

e working principle of an alternating current generator ?

what is th .
its construction and working method with the help of a

escribe
D 1+2+2+1

diagram-
[ Turn over
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IPUTT - (2)
] - (2
Sub-Section - (2) Le14141

5. fr=tetaa difenl w dreed feba sl

(@) Wi

(b) 2-"fe GvARE v

(c) B NIE]

(d)  2-ARE sgemweT-2
5.  Write the structural formulae of the following compounds : 1+ 1+1+1

(a) Propanal
(b)  2-methyl pentanoic acid
(c)  Propene
(d)  2-methyl butanol-2

6. N;IL Méﬁmﬁ&ﬁﬁrﬁ,ﬁaﬁﬁzﬂmﬁﬂiﬁ?ﬁﬁﬁmmz T, I A«
i &1 w0t () e wm B sfudan ¥ 2 (@) B9 ged S sfuaheavier
¥ 7 y&% % fow sRor wied s S 2+ 2

Na, Mg and Al are the elements in which the numbers of valence
electrons are one, two and three respectively. (a) Which of these elements

has the maximum atomic radius ? (b) Which of these elements is th
L]
least reactive ? Answer each with the reason.

7. e sfirret sl & fe e T wheo fofa

2+ 2

i Prl+1+1414)

............
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(d) Mﬁ’mtr +

(0 et e + wifeam smiese o .. + Qifeaa A3

fFrfefas @ froquht ffgs 2+2+2
(@) R iy
(b)  HeIwoy
(c) IWIE A9

7. Write the balanced chemical equation for each of the following
reactions : 1+1+1+1+1+1
(a)  Plaster of Paris + .......... & Gypsum.

(b) Hydrogen + Chlorine — .........

(c) Zinc carbonate — Zinc oxide + ..........
— Magnesium chloride + Hydrogen

(d) Magnesium + .........
+ Hydrochloric acid

(e) Barium chloride + Sulphuric acid — ..........
() Silver nitrate + Sodium iodide — .......... + Sodium nitrate.
OR

Write notes on the following : 2+2+2

(a) Dissociation reaction

(b) Corrosion

(c) Galvanization.

IJTHTT - (3)
Sub-Section - (3)

W%ww??mﬁﬁﬁwmﬁqr 2+

8. ws ? Explain them with suitable diagrams. 2+2

8 Wwhat arc Mendel's 1a .

T aui':! a‘ﬂﬁql 2 + 2
wd belled diagram of longitudinal section ( L.S.) of .
Draw & labe . , -} ol gynoecium to
9. f rtilization in flowers and describe it.
ghow the ¢ 2+ 2
| Tu
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10. &9 W& Rl EvgE & 2 °oiA it | 4
10. Why is conservation of forest necessary ? Explain. 4
11, FFE] (FE) F T a1 Iqht wrdfafy F av B 3+3
AT

g ¥ qTaR dF 1 Aiked T ST qen qeor qfear s eEened ! 3+3

11. Explain the structure of Nephron and mechanism of its working. 3 +3
OR
Draw a labelled diagram of human digestive system and exPlajf; ih;
digestive process.
———
824(EK) - 4,90,000
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